

#### **CHANGE ORDER**

No. 3 Final

Owner: Th	e City of Lexington, Nebraska	Owner	's Contract No			
ater Main, Bi	id Section "C": Paving	Date o	of Contract: April 20, 2017			
		Engine	eer's Project No.:016-3239			
ıpon exec	ution of this Change Order:					
e attached	d Change Order Smeadsheet					
	CHANGE	IN CONT	RACT TIMES			
	Original Contract Times					
			ate): September 1, 2017			
Orders	Increase from previous	ly approv	ed Change Orders No. 0			
	to No. <u>1</u> :					
		-				
	1	Ready for Final Payment (days or date): November 17, 2017				
	Increase of this Change Order:					
		7	· —			
	Ready for Final Payment	t (days or d	date): <u>N/A</u>			
rder:	I .	• •	•			
		t (uays or t				
<b>,</b> :	ACCEPTED:	Bvr	ACCEPTED:			
	ner (Authorized Signature)	_ by.	Contractor (Authorized			
le	-	Title				
ite ——		_				
-		Date:				
:						
tle:		Date	e:			
ge Order\17-12	2-11_GNCV_Change Order No. 3 Final.do	c				
	-					
CD C <sup>2</sup> C O 4 4						
	Orders  Orders  Own the ate  ge Order\17-1	Owner: The City of Lexington, Nebraska  Inter Main, Bid Section "C": Paving  CHANGE  Original Contract Times Substantial Completion Ready for Final Paymen  Contract Times prior to Substantial Completion Ready for Final Paymen  Contract Times prior to Substantial Completion Ready for Final Paymen  Increase of this Change Substantial Completion Ready for Final Paymen  Increase of this Change Substantial Completion Ready for Final Paymen  Contract Times with all Substantial Completion Ready for Final Paymen  ACCEPTED:  Completion Contract Times with all Substantial Completion Ready for Final Payment  ACCEPTED:  Completion Contract Times with all Substantial Completion Ready for Final Payment  ACCEPTED:  Completion Ready for Final Payment  ACCEPTED:  Completion Ready for Final Payment  ACCEPTED:  Completion Ready for Final Payment  Contract Times with all Substantial Completion Ready for Final Payment  Contract Times with all Substantial Completion Ready for Final Payment  ACCEPTED:  Completion Ready for Final Payment  Contract Times with all Substantial Completion Ready for Final Payment  ACCEPTED:  Completion Ready for Final Payment  Contract Times with all Substantial Completion Ready for Final Payment  ACCEPTED:  Completion Ready for Final Payment  Contract Times with all Substantial Completion Ready for Final Payment  ACCEPTED:	Owner: The City of Lexington, Nebraska    Date of Lexington   Date of Lexington   Date of Lexington			



Change Order 3 Final

Date: December 11, 2017

CONTRACTOR: Paulsen, Inc.

Item No.	Description	Unit	Contract Quantilties	Price Bld	Contract Total Cost	As-Constructed Quantities	Add/Deduct Quantities	Add/Deduct Price	Contract Adjusted Total Cost
BID SE	CTION "A": SANITARY SEWER								
1	Mobilization	L.S.	1	\$3,500.00	\$3,500.00	1.00	0.00	\$0.00	\$3,500.00
2	12" PVC Sanitary Sewer Pipe	L.F.	1325	\$34.00	\$45,050.00	1343.00	18.00	\$612.00	\$45,662.00
3	8" PVC Sanitary Sewer Pipe	L.F.	610	\$19.25	\$11,742.50	608.00	-2.00	-\$38.50	\$11,704.00
4	6" PVC Sanitary Service Pipe	L.F.	240	\$22.00	\$5,280.00	264.00	24.00	\$528.00	\$5,808.00
5	4" PVC Sanitary Service Pipe	L.F.	1190	\$17.50		1230.00	40.00	\$700.00	\$21,525.00
6	48" Sanitary Sewer Manhole	EA.	7	\$3,300.00	\$23,100.00	7.00	0.00	\$0.00	\$23,100.00
7	8" Cap	EA.	1	\$125.00	\$125.00	1.00	0.00	\$0.00	\$125.00
8	4" Service Cap	EA.	40	\$80.00	\$3,200.00	45.00	5.00	\$400.00	\$3,600.00
9	12"X4" Service Wye	EA.	32	\$245.00	\$7,840.00	31.00	-1.00	-\$245.00	\$7,595.00
10	8"X4" Service Wye	EA.	8	\$75.00	\$600.00	11.00	3.00	\$225.00	\$825.00
11	8"X6" Service Wye	EA.	4	\$100.00	\$400.00	3.00	-1.00	-\$100.00	\$300.00
BID SE	CTION "B": WATER MAIN								4000100
1	Mobilization	L.S.	1	\$550.00	\$550.00	1.00	0.00	\$0.00	\$550.00
2	8" PVC Water Main	L.F.	2162	\$23.00	\$49,726.00	2147.00	-15.00	-\$345.00	\$49,381.00
3	Directional Drill 8" PVC Water Main	L.F.	80	\$95.00	\$7,600.00	60.00	-20.00	-\$1,900.00	\$5,700.00
4	6" PVC Water Service	L.F.	226	\$21.00	\$4,746.00	226.00	0.00	\$0.00	\$4,746.00
5	8" Gate Valve w/Box	EA.	9	\$1,500.00	\$13,500.00	9.00	0.00	\$0.00	\$13,500.00
6	6" Gate Valve w/Box	EA.	4	\$1,150.00	\$4,600.00	4.00	0.00	\$0.00	\$4,600.00
7	8" M.J. Tee	EA.	3	\$330.00	\$990.00	3.00	0.00	\$0.00	\$990.00
8	8"X6" M.J. Tee	EA.	8	\$290.00	\$2,320.00	8.00	0.00	\$0.00	\$2,320.00
9	8" M.J. 90° Bend	EA.	2	\$320.00	\$640.00	2.00	0.00	\$0.00	\$640.00
10	8" M.J. 45° Bend	EA.	4	\$250.00	\$1,000.00	4.00	0.00	\$0.00	\$1,000.00
11	8" M.J. 22.5° Bend	EA.	1	\$250.00	\$250.00	1.00	0.00	\$0.00	\$250.00
12	8" M.J. 11.25º Bend	EA.	2	\$250.00	\$500.00	2.00	0.00	\$0.00	\$500.00
13	8" M.J. Plug	EA.	1	\$150.00	\$150.00	0.00	-1.00	-\$150.00	\$0.00
14	8" M.J. Cap	EA.	3	\$150.00		3.00	0.00	\$0.00	\$450.00
15	6" M.J. Plug	EA.	4	\$150.00	\$600.00	4.00	0.00	\$0.00	\$600.00



Change Order 3 Final

Date: December 11, 2017

CONTRACTOR: Paulsen, Inc.

Item No.	Description	Unit	Contract Quantities	Price Bid	Contract Total Cost	As-Constructed Quantities	Add/Deduct Quantities	Add/Deduct Price	Contract Adjusted Total Cost
16	Fire Hydrant Assembly w/Aux. Valve	EA.	4	\$4,900.00	\$19,600.00	4.00	0.00	\$0.00	\$19,600.00
17	Wet Cut-In	EA.	1	\$750.00	\$750.00	1.00	0.00	\$0.00	\$750.00
18	1" Service Tubing	L.F.	1102	\$13.60	\$14,987.20	1114.00	12.00	\$163.20	\$15,150.40
19	1" Corporation Stop	EA.	40	\$350.00	\$14,000.00	42.00	2.00	\$700.00	\$14,700.00
20	1" Curb Stop w/Box	EA.	40	\$350.00	\$14,000.00	42.00	2.00	\$700.00	\$14,700.00
21	Temporary Testing Tap	EA.	3	\$295.00	\$885.00	3.00	0.00	\$0.00	\$885.00
BID SEC	CTION "C": PAVING							Ţ0.00	Ψ000.00
1	Mobilization	L.S.	1	\$9,000.00	\$9,000.00	1	0.00	\$0.00	\$9,000.00
2	6" Concrete Pavement w/ Integral Curb	S.Y.	8116	\$31.50	\$255,654.00	8128	12.00	\$378.00	\$256,032.00
3	5" Concrete Sidewalk	S.Y.	1987	\$44.00	\$87,428.00	1916	-71.00	-\$3,124.00	\$84,304.00
4	Build Curb Inlet	EA.	10	\$1,950.00	\$19,500.00	10	0.00	\$0.00	\$19,500.00
5	Build Concrete Collar	EA.	1	\$650.00	\$650.00	2	1.00	\$650.00	\$1,300.00
6	Build Drain Basin	EA.	1	\$2,700.00	\$2,700.00	1	0.00	\$0.00	\$2,700.00
7	Build Storm Sewer Junction Box	EA.	4	\$2,800.00	\$11,200.00	4	0.00	\$0.00	\$11,200.00
8	Detectable Warning Panel	S.F.	126	\$28.00	\$3,528.00	80	-46.00	-\$1,288.00	\$2,240.00
9	12" HDPE Storm Sewer	L.F.	125	\$32.00	\$4,000.00	125	0.00	\$0.00	\$4,000.00
10	15" RCP Storm Sewer	L.F.	36	\$30.00	\$1,080.00	36	0.00	\$0.00	\$1,080.00
11	18" RCP Storm Sewer	L.F.	439	\$38.00	\$16,682.00	439	0.00	\$0.00	\$16,682.00
12	24" RCP Storm Sewer	L.F.	293	\$46.00	\$13,478.00	293	0.00	\$0.00	\$13,478.00
13	30" RCP Storm Sewer	L.F.	1245	\$88.00	\$109,560.00	1245	0.00	\$0.00	\$109,560.00
14	36" RCP Storm Sewer	L.F.	91	\$115.00	\$10,465.00	91	0.00	\$0.00	\$10,465.00
15	42" Storm Sewer	L.F.	144	\$135.00	\$19,440.00	144	0.00	\$0.00	\$19,440.00
16	Remove Pavement	S.Y.	20	\$9.00	\$180.00	20	0.00	\$0.00	\$180.00
17	Remove 30" Storm Sewer F.E.S.	EA.	1	\$350.00	\$350.00	1	0.00	\$0.00	\$350.00
18	Curb Inlet Sediment Filter	EA.	10	\$110.00	\$1,100.00	10	0.00	\$0.00	\$1,100.00
19	Area Inlet Sediment Filter	EA.	1	\$110.00	\$110.00	1	0.00	\$0.00	\$110.00
20	Temporary Erosion Control	L.F.	1515	\$5.00	\$7,575.00	1390	-125.00	-\$625.00	\$6,950.00
21	Rock Construction Entrance/Exit	EA.	2	\$1,000.00	\$2,000.00	2	0.00	\$0.00	\$2,000.00
22	Cover Crop Seeding	AC.	8	\$450.00	\$3,600.00	8	0.00	\$0.00	\$3,600.00



Change Order 3 Final

Date: December 11, 2017

CONTRACTOR: Paulsen, Inc.

Item No.	Description	Unit	Contract Quantilties	Price Bld	Contract Total Cost	As-Constructed Quantities	Add/Deduct Quantities	Add/Deduct Price	Contract Adjusted Total Cost
23	Overexcavation	L.S.	1	\$7,500.00	\$7,500.00	1	0.00	\$0.00	\$7,500.00
24	Earthwork	L.S.	1	\$219,000.00		1	0.00	\$0.00	\$219,000.00
	Total of All Bid Sections				\$1,079,286.70			-\$2,759.30	
CHANG	E ORDERS - NEW ITEMS								, ,, ,
Sanitary	y Sewer - Phase 1B								
CO1-1	Mobilization (4%)	L.S.	1	\$9,500.00	\$9,500.00	1.00	0.00	\$0.00	\$9,500.00
CO1-2	10" PVC Sanitary Sewer Pipe	L.F.	355	\$36.00	\$12,780.00	355.00	0.00	\$0.00	\$12,780.00
CO1-3	8" PVC Sanitary Sewer Pipe	L.F.	1865	\$19.25	\$35,901.25	1854.00	-11.00	-\$211.75	\$35,689.50
CO1-4	4" PVC Sanitary Force Main	L.F.	83	\$19.00	\$1,577.00	80.00	-3.00	-\$57.00	\$1,520.00
CO1-5	4" PVC Sanitary Service Pipe	L.F.	1920	\$17.50	\$33,600.00	2015.00	95.00	\$1,662.50	\$35,262.50
CO1-6	48" Sanitary Sewer Manhole	EA.	6	\$4,700.00	\$28,200.00	6.00	0.00	\$0.00	\$28,200.00
CO1-7	10" Cap	EA.	1	\$150.00	\$150.00	1.00	0.00	\$0.00	\$150.00
CO1-8	8" Cap	EA.	5	\$125.00	\$625.00	5.00	0.00	\$0.00	\$625.00
CO1-9	4" Service Cap	EA.	64	\$80.00	\$5,120.00	65.00	1.00	\$80.00	\$5,200.00
CO1-10	8"X4" Service Wye	EA.	64	\$75.00	\$4,800.00	65.00	1.00	\$75.00	\$4,875.00
CO1-11	Lift Station	EA.	1	\$67,728.75	\$67,728.75	1.00	0.00	\$0.00	\$67,728.75
Water M	lain - Phase 1B						0.00	ψ0.00	ψ01,120.10
CO1-12	Mobilization (4%)	L.S.	1	\$6,000.00	\$6,000.00	1.00	0.00	\$0.00	\$6,000.00
CO1-13	8" PVC Water Main	L.F.	1864	\$23.00	\$42,872.00	1921.00	57.00	\$1,311.00	\$44,183.00
CO1-14	8" Gate Valve w/Box	EA.	7	\$1,500.00	\$10,500.00	6.00	-1.00	-\$1,500.00	\$9,000.00
CO1-15	8" M.J. Tee	EA.	3	\$330.00	\$990.00	3.00	0.00	\$0.00	\$990.00
CO1-16	8"X6" M.J. Tee	EA.	5	\$290.00	\$1,450.00	4.00	-1.00	-\$290.00	\$1,160.00
CO1-17	8" M.J. Cross	EA.	1	\$590.00	\$590.00	1.00	0.00	\$0.00	\$590.00
CO1-18	8" M.J. Plug	EA.	3	\$150.00	\$450.00	3.00	0.00	\$0.00	\$450.00
CO1-19	8" M.J. Cap	EA.	1	\$150.00	\$150.00	3.00	2.00	\$300.00	\$450.00
CO1-20	Fire Hydrant Assembly w/Aux. Valve	EA.	5	\$4,900.00	\$24,500.00	4.00	-1.00	-\$4,900.00	\$19,600.00
CO1-21	1" Service Tubing	L.F.	894	\$13.60	\$12,158.40	960.00	66.00	\$897.60	\$13,056.00
CO1-22	1" Corporation Stop	EA.	29	\$350.00	\$10,150.00	30.00	1.00	\$350.00	\$10,500.00
CO1-23	1" Curb Stop w/Box	EA.	44	\$350.00	\$15,400.00	45.00	1.00	\$350.00	\$15,750.00



Change Order 3 Final

Date: December 11, 2017

CONTRACTOR:	Paulsen, Inc.
-------------	---------------

Item No.	Description	Unit	Contract Quantiities	Price Bld	Contract Total Cost	As-Constructed Quantities	Add/Deduct Quantities	Add/Deduct Price	Contract Adjusted Total Cost
Paving -	Phase 1B								
CO1-24	Mobilization (4%)	L.S.	1	\$19,000.00	\$19,000.00	1.00	0.00	\$0.00	\$19,000.00
CO1-25	6" Concrete Pavement w/ Integral Curb	S.Y.	5872	\$31.50	\$184,968.00	5883.00	11.00	\$346.50	\$185,314.50
CO1-26	5" Concrete Sidewalk	S.Y.	1360	\$44.00	\$59,840.00	1355.00	-5.00	-\$220.00	\$59,620.00
CO1-27	Build Curb Inlet	EA.	8	\$2,100.00	\$16,800.00	8.00	0.00	\$0.00	
CO1-28	Area Inlet	EA.	1	\$4,100.00	\$4,100.00	1.00	0.00	\$0.00	\$4,100.00
CO1-29	Detectable Warning Panel	S.F.	70	\$28.00	\$1,960.00	70.00	0.00	\$0.00	\$1,960.00
CO1-30	30" Round Equivalent RCP Storm Sewer	L.F.	0	\$128.25	\$0.00	0.00	0.00	\$0.00	\$0.00
CO1-31	24" Round Equivalent RCP Storm Sewer	L.F.	650	\$99.60	\$64,740.00	650.00	0.00	\$0.00	\$64,740.00
CO1-32	18" Round Equivalent RCP Storm Sewer	L.F.	36	\$73.00	\$2,628.00	36.00	0.00	\$0.00	\$2,628.00
CO1-33	15" Round Equivalent RCP Storm Sewer	L.F.	36	\$37.00	\$1,332.00	36.00	0.00	\$0.00	\$1,332.00
CO1-34	24" Round Equivalent CMP Culvert	L.F.	70	\$63.75	\$4,462.50	70.00	0.00	\$0.00	\$4,462.50
CO1-35	24" Round Equivalent CMP F.E.S.	L.F.	2	\$550.00	\$1,100.00	2.00	0.00	\$0.00	\$1,100.00
CO1-36	Curb Inlet Sediment Filter	EA.	8	\$110.00	\$880.00	8.00	0.00	\$0.00	\$880.00
CO1-37	Area Inlet Sediment Filter	EA.	1	\$110.00	\$110.00	1.00	0.00	\$0.00	\$110.00
CO1-38	Temporary Erosion Control	L.F.	1465	\$5.00	\$7,325.00	0.00	-1465.00	-\$7,325.00	\$0.00
CO1-39	Rock Construction Entrance/Exit	EA.	1	\$1,000.00	\$1,000.00	1.00	0.00	\$0.00	\$1,000.00
CO1-40	Erosion Control Blanket, Type 1D	S.Y.	171	\$4.50	\$769.50	69.00	-102.00	-\$459.00	\$310.50
CO1-41	Cover Crop Seeding	AC.	8.2	\$450.00	\$3,690.00	8.20	0.00	\$0.00	\$3,690.00
CO1-42	Regrade Ditch	L.S.	1	\$3,500.00	\$3,500.00	1.00	0.00	\$0.00	\$3,500.00
CO1-43	Overexcavation	C.Y.	2800	\$8.00	\$22,400.00	2800.00	0.00	\$0.00	\$22,400.00
CO1-44	Earthwork	L.S.	1	\$161,000.00	\$161,000.00	1.00	0.00	\$0.00	\$161,000.00
Change	Order No. 2 Items					7,00	0.00	Ψ0.00	Ψ101,000.00
CO2-45	Dewatering for Lift Station	L.S.	1	\$22,560.00	\$22,560.00	1.00	0.00	\$0.00	\$22,560.00
CO2-46	30" RCP Storm Sewer	L.F.	136	\$88.00	\$11,968.00	136.00	0.00	\$0.00	\$11,968.00
CO2-47	30" D.I. Storm Sewer	L.F.	18	\$300.00	\$5,400.00	18.00	0.00	\$0.00	\$5,400.00
CO2-48	Concrete Headwall	EA.	1	\$3,500.00	\$3,500.00	1.00	0.00	\$0.00	\$3,500.00
CO2-49	Concrete Collar with Footing	EA.	1	\$2,300.00	\$2,300.00	1.00	0.00	\$0.00	\$2,300.00
CO2-50	Additional Earthwork	L.S.	1	\$12,300.00	\$12,300.00	1.00	0.00	\$0.00	\$12,300.00
CO2-51	Sumping	L.S.	1	\$2,500.00	\$2,500.00	1.00	0.00	\$0.00	\$2,500.00
	TOTAL CHANGE ORDERS				\$947,325.40		3,00	-\$9,590.15	\$937,735.25
	TOTA	L ALL S	ECTIONS		\$2,026,612.10			-\$12,349.45	\$2,014,262.65